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Societies formed with the idea of co-operation are called Co-operative Societies. We are
in need of different commodities. So we either produce them or consume them. The
producers and consumers can establish their co-operative societies and get their
benefit. What is the object of the producer’s co-operative societies? Less expenditure
or production, the best price for the produce and maximum profit. The aim of the
consumer’s co-operative’s societies is to buy the goods at the cheapest rate available.
The society purchases articles in a large quantity. So the price become less. Both
these societies want to gender the service of brokers.
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